Design a Program
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The Program Development Cycle

1. Design the Program (#%;%#%3%)
2. Write/Change the Code (#2;“#79%)
3. Correct Syntax Error ({ it :%:*4&3:%)
4, Test the Program (#%3;%:p|3%)
. Correct Logic/Semantic Error ({ i :B48/3%F & 45:%)
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Syntax Error
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>>> print(1l)
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>»> print [
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P1l <pw:h 11#9>", line 1, in <module>

4 & #evaluatesss %

Twpbfrror can't multiply sequence by non-int of type 'str
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Logic Error
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3% % (English) 2.3 = (Python)
Lexical i SN %% ¥ gtoken
FR Ex. Cat - clothes - phone Ex. int ~ bool, str, if, .(Reserve words)
1-2-314...... (numbers)
Syntax S+V+0 If <condition>:
Wik ERaE Sk True Blocks
Ex. EX.| if a>0: if a>0
| like you. (0) a=a-1 a=a-1
| favorite you . (x) (©) )
Semantic | #B4E} i X M rhi gg e
FR Ex. Cat eats mouse. (0) Ex. 42;% % {@
Dog eats mouse.(X) g ¥ * * A
Pragmatics| =< 4 & AN THFIRARR > VM MR
k 8 Ex. %~ 438 Ex. O(n) ~ O(log n) z_ program

Input, Processing, Output
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Read and Print
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input()

m = input('Please input m: ')
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ﬁ;qn >>»>> m = input( 'Please input m: ")
Please input m: 23
>>> print(m)
2
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